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E*;,r 1'C.f.'.!.._J we  may write S6nA = E*;*":i +|:,_;_. f:)

We have LJ: 3':2 and [, = 9y , o ‘:11 mﬂ;
Sobstivhag  for L, and L i qquaton (1),

= 28l

ﬂere-coruj -[3 = 0.2 wmk
The 1‘0*.1' “DH'H:. s Hhen ac 4v  acrms all citevt elemals,

Rsg= ¥ = 4 . 2oka
l..._; ﬂ't?—.ﬂﬁ

Ly = %0, = 1.8mR, <o Ry~ 4 = 222,20
LBy

[,z 2Ly = 3.bwh,  So Ri= 4 _ - 1.1
2. bmlf
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Consider the BD v SOuree  alone
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Note He 305 and Redraay

bos resislors do
not nfluence Vv, 10
aunj wa-.} IH,D,- -
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180, (%)

Rey = (20 +80)/ 25 = 20m

Hetce , W, = 20 . 80 = 60V
20 +40

And aHer ”—'Plﬂ-ﬂﬁg Reg- with  te original  Clrewit,

r
Ve = Bo x N, = 4B v
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Nowy take Hhe corent gource alone
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Afer recognizing  thet  we may combie  seyersl resihors,
F.5mh
- ]
ki (25 //40) + 20
30/[60 v, € Box = 35,3846 o
= 20
i
Have 6 corrent divider : Ly = = 35,1846 X F5 wh
35.3846 + 90O :;
= — 7.2 mh !
‘leme;urf_, "'J"hr:'. 501'1 = -84 v

Finly, Y=V, + W = =Bbv
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Questinn 2

(a) The wech-cyrreal method would be cimvplest to wee,
There are  theee meshes. One mesh covent it Fixed
at” 19.¢ B. "I"FiuJ't..'J we will have HJo f.:’.ua*“.‘mj tedo

U oS «

(b) set w for mesh-coredt methodk

15 2, 15
N Y
isn STiT

Mesh 1t 150, + 10 (§-5)+ 25 (i,-i,)=0
or 5of, — 1oL, = 25(; = O

Bt (3= 96A, S0 Soi - 0L, = 4% ()
Mesh 2 550, v 35(i- L) + 10(iy-iD=o
o~ 1ol — bl - 3Fi; =0
Rgain 1:52 19.64, 50 —|Dj:| ¥ Iﬂﬂ-l'.?_ = AL (2)

Add ua¥an (1) to S bees z::i.uc{'-‘.}n ()

5oL, - W0, = 490

+ —50L 4 s00i, = 3430
490 {, = 3%20 .o,z 8A
Fom (1), Sev — Bo = 430 S L= 1L4R

The er in the 1O0n resnbr can be determibed from
Heo mnch  Curreat,  whith TS either i|'['1. or lr!'.‘

EI - I:: = 3,4 R 5o Fm - {3.4-}1ID
o

= JIS. 6w
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Glestion 4
First, Fiad He Thewemd voltege Vi

Mcc!e-‘.‘u[l'agg method looks easiest.

Node A ¢ Ve — 50 , Vi + Va-Ve = o
3 { &
b E.'ﬂpr - 100 &+ 'IJH = Na - ‘-.JE = D
4”{} - UE = 100 [l“}
Mode R 2 "‘JE-\IJ:\ - o5V, ¢ E.E,. = D
[ 0

or EVR - WE = Iguﬂ L 3'!!'! = o

We moy recoghize Hat  Vy= Vg (Bis wos o vey
popolar” migteke L)

o SVg = 5Va - 15Va + 3vg = ©
BVg = 20 Vy (2)
Fom () V= (2/)Vg, g0 fom ()
(8/5)Vy — Vg = 100
4 Ve = 166.6% v

Vi = Voo = Vg = 166.67v
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SOv Lsc

0. resplar shoptel

out, so rewove

Shthma with the node vnﬂnﬁe m:l:hn:-l}

Node A+ Same as kefore . 4Vy - Vg = 100 (o
Node & : Ng-Va _ 0.5V, + Ly, = O
£

br \fgw—u,p' — 3\‘}5 +‘"£‘|::.¢ - D

Ac letore, Vi = Va. We also have , bemuse of
Be heel circud, Vg = ©

“Vg = 3V, + 6l = O
"Jﬁh & {3!1)!:5; CE)-
SuleHlde (2) nte (Y with Vg o,

6l = oo s LUge = 16:bbT B
Finally Re = Vo o 166, vﬁ
L5i: Iﬁléﬁ?
= o
10 £
o b +
v -

<



